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And Rabi Shimon agrees that if - 977wV 9752 2P%1 ARW NYRW 5231 771N
it was punctured sufficiently to make it Toh’hoir

Overview

X771 " taught that " agrees that if the y°¥v was punctured to the extent that it
becomes v,! its contents will be considered 221 for all matters. MooIn qualifies
this rule.
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The explanation of 1n777v 7202 is that the hole is of that size that it cannot contain
an olive, for presumably an earthenware utensil is made for holding food, and

their size for being 1770 is if the hole is N R¥XMD -
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And is it the view of the "' that the reason w'"" agrees that it is considered 721
if it is N7V 722 2P, is because the ¥V is considered nullified to the ground

when it is 0970 9702 2P -
- 7nPUN D92 INIT0VY 39 Y N PPYNY 111 399 YaN 1T NININ 25233 SR

And v"1 is 7177 only if the 0717 °%5 was nt X312 27°1, however a vessel which is
designated for liquids, even though that by such a vessel the rule is that it becomes

197w if the hole is sufficiently large to allow liquid to enter into the vessel, nevertheless -
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We do not say in this case that w"1 will admit that it is ®2 to the ypap and
considered 712117, for even the 3139 (who argue with "9) do not consider the vessel
as being 121 (regarding 2°y71 7won) if the hole is only mpwn ©1195 -

'If a "> is sufficiently broken (and not usable) it cannot be Xm0 92pn and if it was Xav previously, it becomes 0.
2 See 0°n°T "1 MY A" 072 AT "N,
3 An p°xv is generally made from o7n.
4 See the X" of X2 later on this Tmy.
5 See »702 "7 >"w1 who writes the reason why it is considered ¥ypp? 1217 is because 23 M7 X2 10T,
¢ One may assume that it is a universal rule that if this hole makes the 2170 *93, we will consider the *23 to be 23X Hv2
ypp (and it will be deemed 72177). MBOIN rejects this notion
7 mpwn o115 means that the hole is sufficiently large that if it is placed in water, the water will be able to seep inside;
this hole is greater than fpwn X>¥, meaning that water will seep out from this vessel. A 73 becomes v if it loses
its utility, therefore a 1pwn? M7 ¥22 once it is APW» 01132 2p°1 it lost its utility (for it can no longer hold liquid inside)
and is 17w, See X"» 2"5 0°% MW
8 Logic dictates this as well; can we say that a Ppwn? 7M1 73 is nurtured from the earth to a greater degree than a
192IR? Wy v93; obviously their 7P is the same. See 1"77 i awa » YW Naw.
% See ‘Thinking it over’.
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But rather they require the hole to be like a small root as the X3 states shortly.

Summary
The rule that we consider it 7272 if it was 10770 2752 2p°1 is only regarding vessels

that are designated for food, but not for vessels which are designated for drink.

Thinking it over

mooIN proves that we do not say by vessels designated for drink that their content is
considered 7217 if it was (\N77V °722) APWK ©1D2 2P, since we see that even the 7127
require a Jop MWD 2p1 (and apwn ond is insufficient).'? However this proof is
seemingly insufficient, for perhaps the 1127 were discussing vessels designated for
food (like it states later 1127 X*X112 ,n°T X'¥X1M2), but not vessels designated for drink;
where perhaps the 13121 would agree that they consider it 9217 if 1077w *722 23p72! 13

10 A hole the size of a Jop W is larger than a hole npwn o113,

! The x7n3 states that when the hole is Jup w3 then it is no longer @>¥71% "W 2apn, for it is considered M2ImMA.
12 See footnote # 9.

13 See R"wnn.
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